(__639FK6390 )\

MONORACK SPECIFICO - SPECIFIC MONORACK .
MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO

BMW F650GS ‘00/'02
BMW F650GS Dakar '00/'02

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE

©)

SCREW M8 X 20
VIS M8 X 20

®

a )

VITE TBEI M8 X 20| | VITE TE M8 X 25

SCREW M8 X 25
VIS M8 X 25

@

RONDELLA & 8
WASHER & 8
RONDELLE @ 8

®
©) Bo21

DISTANZIALE 18X12
foro @ 8,5

COLLAR DISTANCE
ENTRETOISE

QT n2 ) QTY 02 ) QTY 2 ) QTY 4 ) Q.TY no2 )

'd @ }

PARTICOLARI INCLUSI NEL
KIT VITERIA DELLA PIASTRA|
COMPONENTS INCLUDED IN|
THE FITTING KIT OF THE PLATE
PIECES IMCLUES DANS LE KIT
DE VIS DE LA PLATINE
DIE EINZELNEN TEILE SIND BE
MONTAGEKIT DER PLATTE
ENTHALTEN
PIEZAS INCLUIDAS EN EL KIT
DE ANCLAJE DE LA PLETINA

\ QOTY n.- J

(

§
&
;

T .@.m:g.

~N

1/

© Copyright 26032003-Rev02, 1/1/




